ELEC’IRICAL CIRCUITS

- Time : Three Hours Maximum Marks : 100

Note : i) Attempt total Six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.
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i) In case of any doubt or dispute, the English
version question should be treated as final.
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1. Choose the correct answer: 2 each
Wal IR &1 9= BT

1) Three resistance each of 60 are connected in

delta then its equivalent star arrangement will

have a resistance in each branch of the value of
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i) Super position theorem

iv) Effect of 3¢ unbalanced load
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